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MODULE E 

  2007 מועד קיץ – 'אגרסה ' השאלון 

  )405, 016106: שאלונים(

  

  .להלן תשובות אפשריות לפרק זה של הבחינה

 .לחלק מהשאלות, שאינן מוזכרות כאן, חשוב לזכור כי תיתכנה תשובות נוספות

PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (UNSEEN) 

 

(ii) conditions in college classes 1. 

  

In lines 6-10, the writer gives a general explanation of how                            . 

ONE OF THE FOLLOWING: 

 the new technology works. 

 the new technology helps/ enables the lecturers to keep track of students' 

progress. 

2. 

  

(1) The numbers on the screen show that most students have not understood/ 

don't understand the lesson/ the material. 

(3) He knows he has to go/ he goes back over material (he has already 

covered). 

3. 

  

ONE OF THE FOLLOWING: 

 that the students actively participate in the lectures.  

 with the new technology the learning experience becomes far more 

productive.  

4. 

  מוגש על ידי, פתרון הבחינה

  "יואל גבע"צוות המורים לאנגלית ברשת 

  , נחמה מצנר,מיכל חכמון, ת הולנדראורי

  גניה אטד וארז צרפתי, דנה דרורי
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 why the Clicker won him over. 

 why he likes the new technology. 

 the advantages/ benefits/ efficiency/ importance of the new technology.  

  

(iv) More colleges are interested in using it.  5. 

  

(iii) The cost to students. 

(v) Doubts regarding its usefulness.  

6. 

 

 

 

ONE OF THE FOLLOWING: 

 The learning experience becomes more productive.  

 The students actively participate in the lectures.  

7. 

  

PART II: ACCESS TO INFORMATION FROM SPOKEN TEXTS 

  

(ii) How they affect relationships.   8. 

  

Because they                                                             . 

ONE OF THE FOLLOWING: 

 meet a large number of people for the first time. 

 form a lot of first impressions.  

9. 

  

9 weeks.  10. 

  

(iii) Students who liked each other at first usually felt the same later.  11. 

  

(iii) Why the results are not surprising.  12. 

  

(iv) Why first impressions are less important to them.   13. 

 


